


I
\_;‘

- c \A\) U‘ 5 -
h) A LY BN A
PNCIEIN ANS o ~ 'V \/ﬂ)'\ o2 s0) ) ((\‘\ B
= LI

—

- /q)))'\}t_’,uo)oy) ’b_,.h_/l-% J}J"/))JQ; @

o )2 Q\—\ il
PR =
: 22| 1
e NS
<\ N /
| o\ ¥ \c v N
e
1\ \ ) y
_ B PRV B\ TSl
2 -5 =
— '2 . 3 =
B B = 9. 55 = - e
bd/\'_)/f.i)\”df:—\l T:L/]f




| -b
T |
" -
e N
s 206 A/
5 (@ = a
W»C:)d _E, L_/,zc;JL;_’)'(

x=—(

QL






PgEs




A
ot =18 A2







2 T ] eC:J > A

—

ALCD A SN T

























Ul

IR ST I AN N i







6}/%@:”;_/ :{,b
— fk)(QJ‘QXU‘"’ =

- G Xog + EXoPo = el

= K€ 2 Src sy Lio o ¢ MQ»A\

= Zv&»ﬁfd/g/.’w e e R PP

‘- %—k‘&’-&ﬂ:







C L
¥ 6v-) 6 (q 6\”)9

¢
(véwwmﬂ ~lobl

\VO =
= i <—-’))‘~v<//-°
— _ ;Mg o , )
L)) o ] "
<P
( :-‘uﬂ( Wy )
L e




C/"O)l = (?7/2 = (/00 + 97 </ _77)

S —

= 2
/

x - T . I
AL —Hx U :(¢~1>

L//"f‘,«:u / \

/Y ‘5X€>g‘ (/C‘_ a_

(- 3)Cx-3 ) .

¥ +52BE = X(sx ~1) =
(X +2)cx+3)

X +5xX—
(k- /I(x +6)




